Year 5 Homework, Summer Term Week 2
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45 x ? = 4500
What is 3/9 in its lowest form?
What is 4/7 of 77?
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3/4 +1/2 =
What is 10% of 280?
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Maths: Speedy Six

Round 7 565 to the nearest 10.
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0.067 x ? =67

What is 18/20 in its lowest form?
What is 3/7 of 133?

4/11 + 2/3 =

What is 40% of 520?

What are the name of these
quadrilaterals?
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Quick Comprehension: Complete the comprehension. Children should allow themselves one minute to
read the text, and five/ten minutes to answer the questions. Some of the questions are quite tricky, so
don’t worry if you have to talk them through with an adult.
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Spellings
Core Support
deciding hear
decided wear
undecided night
biology right
ecology sight
chronology can’t
criticism didn’t
realism cough
guarantee enough
committee answer
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Optional Maths
(Extra Housepoint)

Spot Millie's mistake.
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What should the answer be?

Homework is due in on 3™ May
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